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BT 7R + m3 30
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HpT
BT D HEHE m 40 PREALHCEII BRI R ES R
REER T
ays)—hr7rysT
Sy =T ay s $£35cm m2 114
FHADIA RC-40 m3 59
B Hubf EFFEH HIA, t=10mm | m2 4
Ktk Sq T VP ¢ 65mm m 22
W UB RS 300X300X10 | m2 5
PRENTAREN m 37 | SRMALECE TR A ES R
NAIET av7Y—hk | ock=18N/mm2 | m3 2
T RIS m2 17
R D T
REDT 7y T
RE DT 7 > 2 fEkt 2t 1 48
LR 4 R D16 EN 74
SN 7S D16 t 0.3
AR D19 t 0.2
&S L
el 5~15kg m3 4
Wt LB A £=10mm m2 130
SR E L
HEE I L L
FIRAEEE L £=500mm m3 52
G
THAEK T
THAERRE L W=4. 0m m3 900 FkiE - L
E2lY | KE+0 5 ®” 67
Fun ¢ KA+ 9 t 0.2
B T
EEERY =FLUE | $1000,1=4.0m m 124
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A H A B B AH 20




BEAN

T St

# Gl b Gike) At B X BAL | /N G = &
s W<2.5m T BEFHEELD m3 9.5
f 1 b T BEFHEELD m3 161. 1
PR T EELT HEAEELY m3 25.9
R W<1. Om LT BEIHEELY m3 25. 2
V5 dnwy LB +4b 161. 1+25.9- (9.5+25.2) /0.9 m3 148. 4
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)1 £ T Bt

gt ]
AU S H e W<2. 5m +-wh (e
(m) LT ) = | Wrom | P = | Wrom | P = Wrom | =
No 0 o 0.0 o o 5.6 o o
No 0 0. 300 0. 300 0.0 0.00 0.0 5.6 5.60 1.7
No 0 0. 300 — 0.0 — — 5.4 _ _
No 0 10. 000 9.700 0.2 0.10 1.0 4.4 4. 90 47.5
No 1 10. 000 0.5 0.35 3.5 3.6 4.00 40.0
No 1 10. 0001 10. 000 0.3 0. 40 4.0 4.4 4. 00 40. 0
No 1 16. 700 6. 700 0.0 0.15 1.0 4.7 4.55 30.5
No 1 16. 700 — 0.0 — — 4.8 — —
No 1 17. 000 0. 300 0.0 0. 00 0.0 4.8 4. 80 1.4
N = m m3 m3
37.000 9.5 161. 1
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AT H e b W<1. Om (e
(m) Wro o | | K B[ Wrom [P S| % & | W om | B = Wrom | =
No 0 o 0.7 o 0.2 o o
No 0 0. 300 0. 300 0.7 0.70 0.2 0.2 0.20 0.1
No 0 0. 300 — 0.7 — 0.9 — —
No 0 10. 000 9.700 0.7 0.70 6.8 0.7 0. 80 7.8
No 1 10. 000 0.7 0.70 7.0 0.6 0.65 6.5
No 1 10. 0001 10. 000 0.7 0.70 7.0 0.6 0. 60 6.0
No 1 16. 700 6. 700 0.7 0.70 4.7 0.8 0.70 4.7
No 1 16. 700 — 0.7 — 0.2 — —
No 1 17. 000 0. 300 0.7 0.70 0.2 0.2 0.20 0.1
N = m m3 m3
37.000 25.9 25.2
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a7 U — b HE £ R 7wy 7 RERER L FE LW m 36.8
(—X%v)

a7 Y—h o ck=18N/mm2 0.8 X 36.8 + 10 m3 2.9
T e /NI S 7.0 X 36.8 + 10 m2 25.8
H it JEH'E, t=10mm 0.1 X 36.8 + 10 m2 0.4
SEREEA RC-40 t=150 6.3 X 36.8 =+ 10 m2 23.2
S IE R 6.3 X 36.8 + 10 m2 23. 2
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HEERE
RC-40] t415
00 430 [0
630
10.0m= b
% M- RE Hi g = B =
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INEESEY (0.250+0.085+0.369) X 10.000 m?2 7.0
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S E B ##R t=10mm|[0.7-10.0 m2 0.1
HEERa
RC-40,t=150 0.630 x 10.000 m2 6.3
HEEE
T HERAEELL m2 6.3
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ayvs)—hTays $£35¢cm 7wy EitRELY, m2 114. 4
HEIADMA RC-40 BEHERE T SEHEELY m3 58. 6
H #ipr VEHE H HAK, t=10mm 1. Of&ATYS 720
114. 4 X 0.35 - 36.7 m2 1.1
1.0XY7=0
1.1 X 36.7 - 10. 0 m2 4.0
KkENAT VP ¢ 65mm 2. 0m2lZ O X1, 04
=0. 391m/A 114. 4 - 2 VN 57
57 X 0. 391 m 22.3
W% H L BS IEAS 300X 300 X 10 KR & A TR E I e 57.0
0. 300 X 0. 300 X 57.0 m2 5.1
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(—xXYn)

27—k o ck=18N/mm2 X 36.5 - m3 2.7
Tl e /NI IED) 36.5 - m2 4.1
H Htt JEHE, t=10mm X 36.5 - m2 0.3

/INOIET £

a7 J—} o ck=18N/mm2 + 1.1 m3 2.2
Tl P AR S ) 7.7 m2 16.9

15/hAa1ET

27 J—F o ck=18N/mm2 BN B Rt m3 1.2
Ul e AR S ) m2 9.2

25 /A 1k T

a7 )—Fh o ck=18N/mm2 m3 1.
Ul e AR S ) m2 7.7
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c A BEE | g | e | wmmR | HE
H S (J:‘Jﬁ'ﬁ) (F‘ﬁl’ﬁ) <m> (m) <m> (m2)
(m) (m)
S TR S
No. 0+0. 300 - - 3.239 -
No. 0+10. 000 9. 700 9. 700 9. 700 3. 243 3. 241 31. 440
No. 1 10. 000 10. 200 10. 100 3. 130 3. 187 32. 190
No. 1+10. 000 10. 100 10. 200 10. 150 3.019 3.075 31.210
No. 1+16. 700 6. 700 6. 700 6. 700 2.832 2.926 19. 600
ait 36. 500 36. 800 36. 650 114. 440
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B R T BEG R E

HAR
WA LB RC-40 fii %
m | W | F HLEIEIIES LN IR W Wom | r C
No 0 + 0.3000 1.7 - -
No 0 + 10.000 9.700 1.7 1.70 16.5
No 1 10. 000 1.6 1.65 16.5
No 1 + 10.000] 10.000 1.5 1.55 15.5
No 1 + 16.700 6.700 1.5 1.50 10.1
& F " m3
36. 400 58. 6
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BT
INEEY 0.112 x 10.000 m2 1.12
B #h#t
EHE B R t=10mm|0.7=-10.0 m2 0.07
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100 1550 1118
V141.700 .
§
1.0 &Y
2R Hi = = B {1 # =
avy)—k (1.118 X 3.100+1/2 % (1.118+0.100+1.018) x 0.400) X 0.300
0 ck=18N/mm?2 m3 117
BT aVH)—MREAT LY. 28IEmH =Y
EHEEY 12+-03%2 m2 8.00
1F E &R
(0.400+3.466) X 0.300 m2 1.16
A&t
m2 9.16
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= M OE E
e FEE
2583 300,
100 1365 . 1118
V141.700 ||
&
3,
1.0 &Y
2R Hi = = B {1 # =
avol)—k
O ck=18N/mm2 [(1.118 X 2.730+1/2 X (1.118+0.100+1.018) X 0.400) X 0.300 m3 1.05
BpT aVO—MEAES R &Y. 28lEmHT=Y
R REEY 10032 m2 6.67
1EmER
(0.400+3.052) X 0.300 m2 1.04
&t
m2 7.71
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RE S T 5
#m A bio) % ik 7t B X AL | /) & &
RE DT 1 v 7 Jaft 2t SFmay FmEE D

MAHEHRELS]  N=481H & 48

R4 B VR LY 28X 23A4=464, 151 X 24=247
BEASHAE & T4y 1+142=4K  N=T4K N 74
ECINST FHER LY, EESERI DI O 2AKETH D (46+24) X2 A 140

D16, L=0. 752m X 24K

1.58 (kg/m) 140 X 0. 752 X 2 X 1.58 | kg 332. 68
t 0.3
RIASERS AEt, BEO T v 7@ L2 L & 48
D19, L=1. 66m 48 X 1.66 X 2.25 kg 179.3
2.25 (kg/m) t 0.2
Rl 5~15kg THEHAEEZE LY m3 3.7
W Hy U BA IEAF t=10mm THEHAEEZE LY m2 133.2
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R T Bdat E

CiEERE) W H U B I
R HA PR 5~15kg t=10mm =
(m) Wr om | W om | B & R B omE| Y 5o ST T (R A ) s

No 0 T 0.1 T T 3.6 T T
No 0 10. 000 10. 000 0.1 0.10 1.0 3.6 3. 60 36. 0
No 1 10. 000 0.1 0. 10 1.0 3.6 3. 60 36. 0
No 1 10. 000 10. 000 0.1 0. 10 1.0 3.6 3. 60 36. 0
No 1 + 17.000 7. 000 0.1 0. 10 0.7 3.6 3. 60 25.2

N = m m3 m2

37. 000 3.7 133. 2
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HEIERE T BEEEE

AR L
WA LB £=500mm fii %
CHLERIEEIE S LN IEEIIE SN AR W Wom | r C

No 0 - 1.2 -
No 0 10. 000 10. 000 1.2 1.20 12.0
No 1 10. 000 1.4 1.30 13.0
No 1 10. 000 10. 000 1.5 1.45 14.5
No 1 + 17.000 7. 000 2.0 1.75 12.3

& F " ne

37.000 51.8




BEAN

R T 3
#m il i ¥ k=2 7t 1 =V =X (VAN BV & 7
T B 1 W=4.0m IRk BEFEELY m3 886. 1
IR L EEFRE IRER B &Y m 8.0
K+ 5 178 IRER B &LV (RiER) & 13
WA, E2S1.0MH4 Y 1. 0m
1B H 4.1 + 5.9 £ 10
2Bt H 4.3 + 6.1 1% 10
3EXH 4.5 + 6.3 £ 11
4B¢ H 4.7 + 6.5 1% 11
5E% H 4.9 + 6.7 £ 12
43 67
HEERY = F L%l ¢ 1000, L=4. Om 62.0 X 2 m 124
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i T FatH
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woA e W=4. Om (=3
(m) Wr | F | B B[ Wom | CF B | K R | W om | B il T T (N A 5] &

No -1 - 14.000] — 0.0 — -
No -1 - 10.000[  4.000 7.2 3. 60 14. 4
No -1 - 6.000[ 4.000 7.2 7.20 28. 8
No 0 - 10.000| 17.400 13.4]  10.30] 179.2
No 0 14. 300 7.7 10.55|  150.9
No 1 20. 000 7.2 7.45]  149.0
No 1 + 17.000] 17.000 2.7 4.95 84.2
No 1 + 18.000]  1.000 6.6 4.65 4.7
No 2 + 1.000] 3.000 6.6 6. 60 19.8

SRR (A-A) — 0.0 — -
3.000 25.5| 12.75 38.3
17. 000 0.0 12.75| 216.8
& F " m3
100. 700 886. 1




